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6. Which of the following describes the transformation at the right? .|

a.  Dilation with a scale factor of 2.
b. Rotation of 90° counterclockwise D
c; Reflection over the x-axis
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d. Translation up 2 units

7. Which of the following describes the movement of a figure that is transformed according to the rule
xy)> x-7,y+1)

a. Translation vertically 7 units and horizontally 1 unit {}{ ng ) \%/ ' | )

b Translation horizontally -7 units and vertically 1 unit /E\ &#
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¢, Translation horizontally 7 unlts and vertically -1 unit
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8. Which of the following best describes the solution to the followmg eggatl =y
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12. Which is the best examﬁle of a number written in scientific notation?
A EXI0° b 1254 x 102 GJ 5367x10°  d. 125x10°
coefbigient must be 2.0 and <10
13. A rectangular section of a wilderness will be set aside as a new wildlife refuge. Its dimensions are 5 x 10°
meters by 4 x. 10* meters. Find the area of the land in square meters. | | ,
a. 9x10'square meters b. 9x10°square meters@leOm square meters d. 20x109 square meters

oxjo5  lengtrviddh=ores
wmﬂ% H_q.‘a a
14. Which of the following numers is not equivalent to the others? ﬁ "“E <‘“"7x‘ U )@" ALY ) ~(NEA,
a 2 b. 4 ¢ ¥16 Ox/‘ L‘MU i g ﬁi’“‘? @:,M 2 A
L=z Yoy Ao Az o 26210 A
15. Which of the foliowmg is an rrational number?~ o ;ﬁi‘ﬂw MW}
o, e
. W y .3 d. Ve4 S Py
a [?4 (% n c /; 6/:}‘\? Z&ODO@D&Z_)&
L , \ 2.0x e =
“rackion W}?Qﬁ%wﬁ whwole B % E
oL ined el M
- NigtT T
j 5.2 L !
j‘l = U% %
Mo Rrnpradye,
. A
- opReeahney

*/% ¥ g;”?{k’k%




